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 

AA

PIANTA

SEZIONE  A-A

                  CALCOLO DELLA SUPERFICIE

S1= (6.85 x 4.80)=............................................mq   32.88
S2= (3.40 x 4.80)=........................................... mq   16.32

                          CALCOLO DEL VOLUME

V1= (mq 32.88x5.70)=......................................mc 187.42
V2= (mq 16.32x2.56)=..................................... mc   41.78

                                                               Totale  mc 229.20

PIANTA

A
A

SEZIONE  A-A

                  CALCOLO DELLA SUPERFICIE

S1= (10.30 x 4.30)+(8.90x3.8)=.......................mq   78.11

                          CALCOLO DEL VOLUME

V1= (mq 78.11x2.93)=......................................mc 228.86

                        Volume mc 228.86 < mc 229.20

CALCOLO  VOLUME
         stato attuale

CALCOLO  VOLUME
         stato modificato






